
Math 504 Set Theory I
Problem Set 8

Due Monday April 14

1) Suppose τ ∈MP and τ ⊆ {ň : n ∈ ω} × P. Let

σ = {〈ň, p〉 : ∀q ∈ P (〈ň, q〉 ∈ τ → p ⊥ q}.

Show that σG = ω \ τG for any M-generic filter G ⊆ P.

2) Let D ⊆ P and p ∈ P. Prove that the following are equivalent.
i) D is dense below p.
ii) for all q ≤ p, D is dense below q.
iii) {q ≤ p : D is dense below q} is dense below p.

3) Prove that the following are equivalent:
i) p |̀ ∗φ(τ1, . . . , τn)
ii) {q : q |̀ ∗φ(τ1, . . . τn)} is dense below p.
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